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02.
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Numl=int (input ("2306)c503z) RN GEBIB="))
Num2=int (input ("2306)c50Dz) RN GEBIZ="))
Total=Numl+Num2

print (Numl, "+" ,Num2, "=" ,Total)

Average = Total/2

print ("230@2325c5¢5=" ,Average)
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Muml=float [input (~8:DtsDasl @i soxdim=r))
MumZ=float (input |~ScHcdzl @& samim="})
OPmint (input (@ B8 N8 1 2, i B8 08 2 &, e BDEE 08 3 2, aDf8 0@ 4 2 e »ITH =v})
if [(OP==]}):
Ans=Nusml+Hum?
alif (OF==2):
Ans=Numl-Hum?
2lif [OP==3}:
Ans=Nusl *Hum?
8lif [OP==d):
Ans=Nu=l /Hums
print ("B Emd == Ans)
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Numl=float (input ("2806)c32D28) R GaBIX="))
Num2=£float (input ("2808)c32328) RN GaABIH="))
if Numl>Num2:

print ("J®I1EH@ 2806)c32D=",Numl)
else:

print ("IJRIRHH@ #Bogc32d=",Num2)
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marks=int (input ("@® EMNIOS) RX 6PN BOWB) HMEBIBH="))
if marks>100:
print ("@® #}WEB) WS F1B5I6B MSE R . ")
elif marks>=75:
print ("@DO @1 Y15 b= » 6I.")
2lif marks>=65:
print ("@0DO @18 Y18 «ebont= B 6I.")
elif marks>=55:
print ("@O 1) 1 ebons= c 6I.")
elif marks>=40:
print ("@O 1 Y1 ebsn= s 6I.")
2lif marks>=0:
print ("@DO @18 ¥18 leboncs= F 6I.")

else:

print ("@& F}JEB) WO FB5I6B) MOE R . ")
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FNum=int (input ("@O ENINOD) ¢§2) Boewdr 6864 8LE Boi)wrd BwBIH="))
LNum=int (input ("@RO ENIWB) ¢§2) Woed3) 6236¢E2H D8 803D BBBIBH="))
while FNum<=LNum:

print (FNum,end=",6")

FNum=FNum+1

C¢i- @005 10 2 DO O BT wds wE B0 957 BREH® wo5150D ER OBOD.
Nums=int(input(“Enter a integer number="))
Count=1
Max=Num
while Count<10:

Num=int(input(“Enter a integer number="))

if Num>Max:

Max=Num

Count=Count+1

print(“Maximum number is=",Max)



